loungelovers

GRAZE DINING TABLE BLOCK 270CM

/

75cm

-

Bolt M8x20 D) x 4 Flat Washer M8/M16 D) x12
® ®
Bolt M8x30 ) x6 | (B Spring Washer M8 @ x 12
Bolt M8x40 DD x 4 Allen Key M4 x 1
Yy
@ Flat Bracket x2




loungelovers

GRAZE DINING TABLE BLOCK 270CM




